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tidyverse
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df <- data.frame(1
  IDs=1:3, 2
  gender=c("male", "female", "Male"), 3
  age=c(28, 35.5, 31),4
  trt = c("control", "1", "1"),5
  Veteran = c(FALSE, TRUE, TRUE)6
  )7
df8

  IDs gender  age     trt Veteran
1   1   male 28.0 control   FALSE
2   2 female 35.5       1    TRUE
3   3   Male 31.0       1    TRUE
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df1

  IDs gender  age     trt Veteran
1   1   male 28.0 control   FALSE
2   2 female 35.5       1    TRUE
3   3   Male 31.0       1    TRUE
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str(df)1

'data.frame':   3 obs. of  5 variables:
 $ IDs    : int  1 2 3
 $ gender : chr  "male" "female" "Male"
 $ age    : num  28 35.5 31
 $ trt    : chr  "control" "1" "1"
 $ Veteran: logi  FALSE TRUE TRUE
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iris
iris

iris

View(iris)1
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str(iris)   # structure of data1

'data.frame':   150 obs. of  5 variables:
 $ Sepal.Length: num  5.1 4.9 4.7 4.6 5 5.4 4.6 5 4.4 4.9 ...
 $ Sepal.Width : num  3.5 3 3.2 3.1 3.6 3.9 3.4 3.4 2.9 3.1 ...
 $ Petal.Length: num  1.4 1.4 1.3 1.5 1.4 1.7 1.4 1.5 1.4 1.5 ...
 $ Petal.Width : num  0.2 0.2 0.2 0.2 0.2 0.4 0.3 0.2 0.2 0.1 ...
 $ Species     : Factor w/ 3 levels "setosa","versicolor",..: 1 1 1 1 1 1 1 1 1 1 
...
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summary(iris)1

  Sepal.Length    Sepal.Width     Petal.Length    Petal.Width   
 Min.   :4.300   Min.   :2.000   Min.   :1.000   Min.   :0.100  
 1st Qu.:5.100   1st Qu.:2.800   1st Qu.:1.600   1st Qu.:0.300  
 Median :5.800   Median :3.000   Median :4.350   Median :1.300  
 Mean   :5.843   Mean   :3.057   Mean   :3.758   Mean   :1.199  
 3rd Qu.:6.400   3rd Qu.:3.300   3rd Qu.:5.100   3rd Qu.:1.800  
 Max.   :7.900   Max.   :4.400   Max.   :6.900   Max.   :2.500  
       Species  
 setosa    :50  
 versicolor:50  
 virginica :50  
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dim(iris)1

[1] 150   5

nrow(iris)1

[1] 150

ncol(iris)1

[1] 5

names(iris)1

[1] "Sepal.Length" "Sepal.Width"  "Petal.Length" "Petal.Width"  "Species"     
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head(iris)1

  Sepal.Length Sepal.Width Petal.Length Petal.Width Species
1          5.1         3.5          1.4         0.2  setosa
2          4.9         3.0          1.4         0.2  setosa
3          4.7         3.2          1.3         0.2  setosa
4          4.6         3.1          1.5         0.2  setosa
5          5.0         3.6          1.4         0.2  setosa
6          5.4         3.9          1.7         0.4  setosa

tail(iris)1

    Sepal.Length Sepal.Width Petal.Length Petal.Width   Species
145          6.7         3.3          5.7         2.5 virginica
146          6.7         3.0          5.2         2.3 virginica
147          6.3         2.5          5.0         1.9 virginica
148          6.5         3.0          5.2         2.0 virginica
149          6.2         3.4          5.4         2.3 virginica
150          5.9         3.0          5.1         1.8 virginica
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head(iris, 3)1

  Sepal.Length Sepal.Width Petal.Length Petal.Width Species
1          5.1         3.5          1.4         0.2  setosa
2          4.9         3.0          1.4         0.2  setosa
3          4.7         3.2          1.3         0.2  setosa

tail(iris, 2)1

    Sepal.Length Sepal.Width Petal.Length Petal.Width   Species
149          6.2         3.4          5.4         2.3 virginica
150          5.9         3.0          5.1         1.8 virginica
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$

$
DatSetName$VariableName

iris$Petal.Width1

  [1] 0.2 0.2 0.2 0.2 0.2 0.4 0.3 0.2 0.2 0.1 0.2 0.2 0.1 0.1 0.2 0.4 0.4 0.3
 [19] 0.3 0.3 0.2 0.4 0.2 0.5 0.2 0.2 0.4 0.2 0.2 0.2 0.2 0.4 0.1 0.2 0.2 0.2
 [37] 0.2 0.1 0.2 0.2 0.3 0.3 0.2 0.6 0.4 0.3 0.2 0.2 0.2 0.2 1.4 1.5 1.5 1.3
 [55] 1.5 1.3 1.6 1.0 1.3 1.4 1.0 1.5 1.0 1.4 1.3 1.4 1.5 1.0 1.5 1.1 1.8 1.3
 [73] 1.5 1.2 1.3 1.4 1.4 1.7 1.5 1.0 1.1 1.0 1.2 1.6 1.5 1.6 1.5 1.3 1.3 1.3
 [91] 1.2 1.4 1.2 1.0 1.3 1.2 1.3 1.3 1.1 1.3 2.5 1.9 2.1 1.8 2.2 2.1 1.7 1.8
[109] 1.8 2.5 2.0 1.9 2.1 2.0 2.4 2.3 1.8 2.2 2.3 1.5 2.3 2.0 2.0 1.8 2.1 1.8
[127] 1.8 1.8 2.1 1.6 1.9 2.0 2.2 1.5 1.4 2.3 2.4 1.8 1.8 2.1 2.4 2.3 1.9 2.3
[145] 2.5 2.3 1.9 2.0 2.3 1.8
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$
$

mean(iris$Petal.Width)1

[1] 1.199333

sd(iris$Petal.Width)1

[1] 0.7622377

median(iris$Petal.Width)1

[1] 1.3
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df
df1

  IDs gender  age     trt Veteran
1   1   male 28.0 control   FALSE
2   2 female 35.5       1    TRUE
3   3   Male 31.0       1    TRUE

mean(df$age)1

[1] 31.5
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df$age1

[1] 28.0 35.5 31.0

median(df$age)1

[1] 31

median(c(df$age, 67))1

[1] 33.25
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summary(iris)1

  Sepal.Length    Sepal.Width     Petal.Length    Petal.Width   
 Min.   :4.300   Min.   :2.000   Min.   :1.000   Min.   :0.100  
 1st Qu.:5.100   1st Qu.:2.800   1st Qu.:1.600   1st Qu.:0.300  
 Median :5.800   Median :3.000   Median :4.350   Median :1.300  
 Mean   :5.843   Mean   :3.057   Mean   :3.758   Mean   :1.199  
 3rd Qu.:6.400   3rd Qu.:3.300   3rd Qu.:5.100   3rd Qu.:1.800  
 Max.   :7.900   Max.   :4.400   Max.   :6.900   Max.   :2.500  
       Species  
 setosa    :50  
 versicolor:50  
 virginica :50  
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df$age1

[1] 28.0 35.5 31.0

mean(df$age)1

[1] 31.5

sd(df$age)1

[1] 3.774917
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hist(iris$Sepal.Width)1 mean(iris$Sepal.Width)1

[1] 3.057333

sd(iris$Sepal.Width)1

[1] 0.4358663
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summary(iris$Sepal.Width)1

   Min. 1st Qu.  Median    Mean 3rd Qu.    Max. 
  2.000   2.800   3.000   3.057   3.300   4.400 

quantile(iris$Sepal.Width, c(.25, .75))1

25% 75% 
2.8 3.3 

diff(quantile(iris$Sepal.Width, c(.25, .75))1

75% 
0.5 

IQR(iris$Sepal.Width)1

[1] 0.5
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install.packages()

install.packages("dplyr")   # only do this ONCE, use quotes1
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library()

library()

PackageName::CommandName

library(dplyr)    # run this every time you open Rstudio1

dplyr::arrange(iris, Petal.Width)   # what does arrange do?1

    Sepal.Length Sepal.Width Petal.Length Petal.Width    Species
1            4.9         3.1          1.5         0.1     setosa
2            4.8         3.0          1.4         0.1     setosa
3            4.3         3.0          1.1         0.1     setosa
4            5.2         4.1          1.5         0.1     setosa
5            4.9         3.6          1.4         0.1     setosa
6            5.1         3.5          1.4         0.2     setosa
7            4.9         3.0          1.4         0.2     setosa
8            4.7         3.2          1.3         0.2     setosa



knitr

tidyverse

rstatix

janitor

ggridges

devtools

oi_biostat_data

oi_biostat_data
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oibiostat
oibiostat

oibiostat devtools

devtools::install_github()
install_github() devtools

library(devtools)

#

oibiostat

install.packages("devtools")1
devtools::install_github("OI-Biostat/oi_biostat_data", force = TRUE)2

library(oibiostat)1
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